
 

SUMMER TERM 1 - YEAR 4 THURSDAY MORNING ACTIVITIES - ANSWERS 

5 Fluency Questions 
 
 
 

900 x 4 = 3600 
 

78 + 50 = 128 
 

3968 ÷ 8 = 496 
 

4329 + 4329 = 8658 
 

 85 – 6 = 79 

5 Maths Problems 

 

 
3   or 3.00 

 
15/15  or 1 

 
0.75 

 
2.3 

 
£ 6.60 

Spelling Challenge 
Each sentence below has 

one word that is incorrect. 
Write the correct spelling of 

this word. 
 

actually 
 

peculiar 
 

reign  
 

forwards 
 

material 

Tricky Question ☺ 
 

Who is in this picture? 
 

 
 

 
 

Prince George ! 
 

 

 

 


